Geametng Review

QUIZ 3

Name:

4. Jasmine is making a triangular garden. Two
sides of the garden measure & feet by 11
fest. What is the range of possible lengths,
in feaet, for the third side, X, of the garden?

< X<

Date: Par:

1. Given AJET, find msL.

PS8y

A. 437
B. 47"
C.52
D. 55

2. Given AXTZ, if XT @IZ, and msT = 227,
find msZ.
X

5. A triathlon event in which participants
run, bike, and swim certain distances is
mapped out in a triangle as shown below.

Swim
Run

Bike

Which statement must be true?

A. The run distance is greater than the
swim distance.

B. The bike distance is less than the run

distance.

C. The swim distance is less than the bike
distance.

D. The bike distance is greaster than the run
distance.

mzZ =

3. Which of the following side lengths could
form a triangle? Check all that apply.

O 7,715 O 16, 3, &
O 21, 24, 43 O 10,21, 11
O 16, 14, @ O 32,35, 39

6. In ADEF, DE = 29 feet, EF = 26 feet, and
DF = 32 feet. Which correctly gives the
order of the angle measures from largest to
smiallest?

A, LE SF ST
B. £F, #0), #E
C.s0, £F, £E
D. £E, £, £F

7. If ACMD = ARTTY, what must be trua?

LT = mET
el =meR
CD=RY
MD =RV

DO E R




8. Given: AZ bisects 2ITXT and #ZT.
53

¥

Based on the information given, which
triangle congruence theorem could be
used to prove AXTTE = AXTZ?

C. Angle-Angle-Side
. Side-Side-Side

A, Side-Angle-Side
B. Angle-Side-Angle

9. Which pair of triangles cannot be proved
congruent?

11. Given: JE || IM, KL || MN, JE =L

K A

!

Complete the proof of AJRT = ALMN by
writing the letter of the reason in the box.
Reasons may be used more than once.
Mot all reasons will be used.

Statements
1. TN T, T I

|3.Egm Ha

l
[ 2. ZEJL = ZMIN: ZELT = ZMNL | I 2. |
|
|

|4. AJET = AT MN | |¢.

Reasons Bank:

Given

. Reflexive Property

. Afemate Interior Angles
. Corresponding Angles

. Angle-Side-Angle

. Angle-Angle-Side
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10. What piece of information would prove
AACE = ABDE by Side-Angle-Sida?

12. ARS5T is shown on the graph below.
: 5

Which set of ordered pairs could represent tha
vertices of a triangle congruent to ARST?
A, {':1' -l:l, [?r ']-:I- [4r 'E‘:l}
B. {(-7. 5} (-2, 8). (-2, 1)}
C. {(-5 -1} (-1, 5} (-& -7]}
D. {(-3, Q) (3, 0} (-1, -8)}







